Do Cicrionn Tree.

Enivopy of a (oaded toin wath probabilTy p of heads :
- Phrg,;P - cl-»P)Logaa-p)

Caee 1. Pltacld= 34, Pchead) = /4

= = yq ;_\/1 - Cl“YQ) Laj; C[-]/Q) = "\/Q(,\’j; \/q = g/? L"J)‘ 8/? j -
;?) = &q Lﬂ:.%‘i =C l'&Q)“JICl*S/Q) = - g/1L¢])_3/q_ \/‘i L‘r‘jl \/? Qe
= aih

Rewmark : bosed o Case 1.2 2.,
(e Petait) = W9, Pchesst) = 79

the movre ™ Tw—‘)ure Y, Nl cepteei ¢
D - Y4 Lojp_s/q - 44 L\vj;“*/q = 0.94.

Y clhaostic”, the b:aser +he fwlwfa_
F”" More thaua bTna

owtComés =

Hey) = - Dity Puj)lo]a*’cj)

x\L CLa_wCﬂ Not c(«o.w%

Rasn g""“l'»‘p \/l vo

Olosewe s the probabilities adi upto 1.
Sof jo0

Jo'lwl' 'CM{VOP*J

HOGY)= - ‘.i;?% f’cx,j> L"j* PLx,j).

Not Rovtu,;wg 25/109

Hex, V)

1]

2 Pex M;L«j; P(x,d.o.wa])-\- ch,no+ccuwtj)bj> Pf—r»vwbc&wj)

- PCram, Clouuelp) Log. P rovian; Clamdlp) = Peracn .= clovety) g Pz, -—mcMJ)
- Pearzeu. Clonasty H)j:_PC'?mu 3 ocij )

E P(‘l \rn.:u\ﬁc(,ouot.s) Ledr (3("1 i, —10wwtj)
T ‘;""/loo

L\\—jl I iod — \/wo(n)jl \/lao = QS'/IW Cvjz."'g/fm) i :%ao[o )-'r%oo
[.S6 bik

\



§Fec\~f:c Comalition E‘whoyué Hevix=2 2 — ;; Pe j\x)hrszCSlx)

Peylxd= Pty Pud= ZESPC"‘_})
| P> =) P = P inza, a&walj) + Ve, 1 clocely)

H(Yl’X=@u) i % Pe :j\miu.)(,\rj;_ P frmin)

== Clousdy | ria 3 eg l’cccoudjl R
et Clorsote | 17ie) l/llj). Pea clavetyl e )

c(’i@ ‘Wu:&%&)—: I U < | 2
P watj ) %‘)LO. 2%

P(m) _l (/10] L2
P C ol L Yzun) = Bum_u_ogy.m,\_ 2 B adier 0
Pcauuy + / iwn e

H Y] X=rmmys - a*/&slojxé‘f/}s - s Loj:. V35 = .24 birg

CLN%%&CIOMGI.%idvﬂ>3
HYIX) = 3 Pexd HeYlX=a) = - 'i;c): ch:j)‘zvga Pex>
= d

s 3%% Puod PfﬂlX)La]a l”fj!x)
- P(mj)
What is the._ewbspy_of Clouoknase Y, Jiren the vanuble X

HevIn): ; Pix) Hevl X=x) = Plraim ) R CY X =vzein) + Pravacay H ov|vey

low oy lvo too

3 :(...3_!_44__ HOYlA =vmoay + ¢ 38 +,§g‘)t~{cyl-1mc.)

L

LT Ta HoY] yaa) + -%r\—k('\/lﬂm'»s = 0.5 bitt



Taforenagoon G TQCYIX) = We¥) - HCYIAD
D the iuformation we Jained on the oblenalon of o afrer OIOSCW‘M.a_
haw Y?’me." whw we bave kaodage aboer X.

Preture ot slictes 9@-
Hy) = ~ 2/'{ h%zz/'( - S-/‘[ («1‘32 5/-(
Heyliefty - o-8L, HeYlnpee) = 0.9
16 cspletd = 0.86 - c¥1-08113M1-09) = pook

Petwre ap slictes oo
HeYltefty = O, HCYlh’?M) = 0.97

1Gcspus) = 036 - CFH.0 + F.041) = 0.T1

2 splt at 30 is better Hhan +h spit ot 29 because o bettoy t'wfzwmc.[?ou; g adw,



